Reading Comprehension
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Passape 1

Captain Cook, the noted world explorer, encountered an
unusual animal during his first visit to Australia. He pointed
to it grazing in the distance and asked his native guide to
identify it. The guide appeared confused and f{inally said,
“Kang-a-roo” which Cook caréfully noted in his word book,
The missionaries who later came to Australia were anxious to
see a kang-a-roo but their inquiries were met with puzzled
looks. They scon discovered that the native who answered
Cook’s question was really saying, “1 don’t know what you're

pointing at.” The name stuck and is still in use today.

New Words and Expressions

1. graze MEFHE 2. missionary fE¥+
3. kangaroo %%,

1. Which sentence best expresses the main idea?
(a) Captain Cook’s guide had a sense of humor.
{b) Native Australians could not speak English,

(c) Bome words have fascinating origins.
{d) Captain Cook was fond of animals,

2. The paragraph illustrates
(a) the far-reaching influence of missionaries.
(b) the unusual origin of certain words.
{c) the importance of accurate dictionaries.

{d} the inquiring minds of early explorers.



4. The paragraph could be entitled
{a) God-fearing Men.
{b) An Understandable Error.
{c) Animals from Down Under,
{(d} Live and learn.

Passage 2

Whether yvou are a sinoker or a nonsmoker. vou should
take measures to protect your lungs. You van test vour lung
capacity by holding a lighted match about six inches from vour
face and trying to blow it out with your mouth wide open. If
vou cannot blow owf the flame, arrange for a medical
examination. Using a simple machine called a spiromeler (spir
em e ter), a doctor can measure the lungs’ strength and
capacity. In other words, -he can test how efficiently you
breathe. When combined with a complete physical examination,
the spirometer test may detect early signs of respiratory

problems.

New Words and Expressions

1. blow out K. AR 2. flame k1§
3. spirometer fiiiEHit(F) 4. respiratory problems
R 7 10 B < PR R AR

1. Which sentence expresses the main idea?
(a) Necessity is the mother of invention.
(b) An ounce of prevention is worth a pound of cure.
(("J Den’t count your chickens before they're hatched.

{d} Join the unhovoked generati(-m.
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2. The paragraph is in favor of
(a) forbidding smoking in public places.
(b) cutlawing the sale of tobacco products.
(c) promoting good health habits,

(d) enforcing strict air-quality controls.

3. If a person passes the match test, he can assume that he
{a) must have an examination.
(b) need not worry abo{xt lung diseaée.
(c"), is In good physical health.
{d} has no obvious lung probiems.

]jE;’assage 3

Ever since humans have irnhabited the earth, they have
made use of various forms of communication. Generally; this
expression of thoughts and feelings has been in the form of oral
speech. When there is a lanpuage barrier, communication is
accomplished through sign langucge in which motions stand for
letters. words, and ideas. Tourists, the deaf, and the mute have
had to resort to this form of expreséion. Many of these symbols
of whole words are very picturesque and exact and can be used
internationally; spelling, however, cannot.

Body language transmits ideas or thoughts ) by certain
aclions, either intentionally or uninten-tionally. A wink can be a
way of flirting or indicating that the party is only joking. A
ned signifies approval, while shaking the head indicates a
negative reaction.

Other forms of nonlinguistic language can be found in

3



Braille (a system of raised dofs read with the fingertips), signal

flags, Morse code, and smoke signals. Road maps and picture

signs also guide, warn, and instruct people. ‘
While verbelization is the most common form of langua{ge,

other systems and techniques also express human thoughts and

feelings,
MNew Words and Experssions
L. ichabit [J§{E . 2. in the form of U --EA
3. sign language FHIESH 4. stand for {{F
5, picturesque JE R LAY 6. body language XS
7. intentionally #H i 8. unintentionally FE#h
9. wink R 10. flirt 32 5% i
11. braile B X 12. raised dot ERMAET
13. fingertip  FIg2k 14. verbalization FiFEE R

1. Which of the following best summarizes this passage?
(a) When language is a barrier, people will Eind other forms
of communicatic:..
(b) Everybody uses only cne form of communication.
(c) Nonlinguistic language is invaluable to foreigners.
(d) Although other forms of communication exist, verbaliza.
tion is the fastest.

2. Which of the following Statements is not true?
(a} There are many forms of communication in existence
today. . .
{b) Verbalization is the most common form of communication.
{c) The deaf and mute use an oral form of communication.
(d) Ideas and thoughts can be transmitted by bedy language.

4



3. Whnch form other than oral speech would be most commonly
uscd among blind people?
{a) picture signs {e) body language
(b) Braille {d) signal flags

4, How many different forms of communication are mentioned '
here?
(a) 5 (b)17 (j:) 9 (d) 11

or

. 8ign language is said to be very picturesque and exact and
can be used internationally except for
(a) spelling  (b) ideas  {(¢) whole words  (d) cxpressions

Passége 4

Doctors are of the opinion that most pecple cannot live
beypnd 100 years, but a growing number of scientists believe
thet the aging process can he controlled. There are more than
12,000 Americans over 100 years old who receive Social Security
benefits, and their numbers are increasing each year. Dr. James
Langley of Chicago eclaims that, theoretically and under ideal
conditions, animals, including man, can live six times longer
than their normal period of growth. A person’s period of
growth lasts approximately twenty-five years. If Dr. Langley’s
theory is accurate, future generations can expect a fife span of

150 years.
New Words and Expressions

1. Social Security  FH&FRI(ED 2. Yife span ity

]



3. pensioner R EEH

1. Which sentence bess expresses the main idea?

(a) Within a few generations, most people will probably live
for 150 years. -

(b} Social Security pensioners are steadily increasing in
number.

(o Physicians and scientists disagree regarding man’s
possible life span.

(d) Man's normal period of growth compares with that of

animals.

2. The main idea of the paragraph deals with
(ajgxpected longevity. (b) retirement benefits.
(¢) population contral. (d} impractical theories.

3. The author develops his main idea by
(a) describing the conditions necessary for a long life.
(b),explaining the findings of an expert.” -
(c) comparing man with other animals.

(d} quoting popular medical opinion.
" :

Passdge 5

The real problem with polluticn is penple-- the way people
think about their envivonment. We're all reluctant to accept the
f;).ct that our naturat resources are fixed --fixed, in fact, since
the earth was created. We want to go on using virgin materials.
We arent educated to reusing resources, or even placing a

value on "waste” products. We're a crisis society. Currently, we
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are fearful of lesing the use of our water and air 1o pollution.

In one context. 1's probably a good thing that we are so

concerned because now we'll begin to adjust our thinking on

the values of natural resources and reuse. We once thought of

water and air as free. They're not, not any merethan the land

is free. People havent wanted to be educated on the part they

must play in solving our environmental problems.

1.
3.

1.

New Words and Expressions

reluctant  HEIANY: 30T - 2. virgin  AEEfH ARG
provoke R )81 Fe B ) MUY
The envil‘(ml‘nent-ﬂl erisis can be turned around and solved if

people

(a) insist on using virgin materials. -
(b) change their basic attitudes.

() adjust to shortages and high prices.

(d} clean up their rivers and lakes,

An important conclusion which can be drawn from the
paragraph concerns

(wass education. (h) government financing.

(c) political responsibility.  (d)strict controls.

. It ean be concluded from the statement, "We're a crisis

society,” that

(a) Americans are pessimistic.
(b) America is a warlike nation.
(c) pollution is here to stay.

(d) Americans must be provoked to action.
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Passage 6

Few can deny the sfrange comcidéences in the dewths of
John F. Kennoedy and Ahraham Lincoin. For example, Kenneds
was elected in 1960 while Lincoln assumed the Presidency in
1860. Both wen weve assassinated from behind, on a Friday.
and in the presence of their wives. The two men were born
cxactly one hundred years apart. as were their assassinz. Lee
Harvey Oswald and John Wilkes Booth. Perhaps the strangest
coincidence is that Kennedy’s secrotary, whose name was
Lincoln, advised him not to go to Dallas where he was shot.
Lincoln’s secretary, whose name was Kennedy, advised him not

to go 1o the Ford Theater where he met his death.

New Words and Expressions

1. coincidence  I5{%
strange coincidence S ABHIGH
2. assume the Presidency JH{EHRBFRE

3. assassinate #ERGTTH
4. assassin @ BE BTLARE

1. Which sentence best expresses the main idea?

(&) Pew can deny the strange coincidences in the deaths of
John F. Kennedy and Abraham Lincoln.

() Both men were assassinated from behind, on a Friday and
in'the presence of their wives.

{¢) The two men were born exactly one hundred years apart,
as were thelr assassins, Lee Harvey Oswald and John
Wilkes Booth,



{d) Lincoln’s secretary, whose name was Kennedy, advised
him not to go to the Ford Theater where he met his
death.

2. The circumstances surrounding the two deaths were
(1)} mysterious. - (b) similar.

{¢) contrary. (d) unrelated.

3. Which statement expresses the central thought?
(2) Fame is something which must not be lost.
(b} The course of life is like the sea; men come and go; tides
rise and fall.
{¢) Time brings not death; it brings but changes.
{) It is no great wonder if, in long process of time, numerous
coincidences should occur.

'Passage 7

An election year is cone in which all four numbers are
evenly divisible by four (1944; 1948, etc.). Since 1848, American
presidents elected in years ending in zero have been destined to
die in office. William H. Harrison, the man who served the
shortest term, died of preumonia several weeks aifter his
IRAUGUTTIIon.

Abraham Lincoln was one of four presidents who were
assassinated. He was elected in 1860, and his untimely death
came just five years later.

James A. Garfield, a former Union army general from
Ohio, was shot during his first yvear in officé (1881) by a man to
whom he wouldn’t give a job,



While in his second term of office (1901). William
- McKinley, another Qhioan, attended the Pan-American Fapo-
sition at Buffalo, New York. During the reception. he was
assassinated while shaking hands with some of the guests.

Three years after his election in 1920, Warren G. Harding
died in office. Although it was never proved, many believe he
was polsoned.

Franklin D. Roosevell had been elected four times (1932,
1936, 1940 and 1944), the only man to serve so long a term. He
had contracted pofio in 1921 and died of the illness in 1945,

John F. Kennedy, the last of the line, was assassinated in
1963, only three yvears after his election. ]

Will 1980's candidate suffer the same fate?

New Words and Expréssions

1. everly divisible FERSBRAY-BEERLAY 2. destine &ia. ik

4. pnevmonia fii # 4, inauguration (FE)E
HLE

5. untimety TERBY . AGELH 6. Ohioan {248 A

7. Pan-American 1% . 8. Exposition kYT

9, polio M E# - 10. candidate S40{EE
A ‘

11. sweardin T ¥EsKEL

1. Which of the following was not an election year?
{a) 1960 (hy 1930 (c) 1888 (d) 1824

2. Which president served the shortest term in office?
{a) Abraham Lincoln (b) Warren (i, Harding
f¢)y William MeKinley (d} William H. Harrison
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